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0 StXE THATHMHRASE X HE ALY 520,000
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[ia 182,000
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HeloIESs 72 A 50,000 50,000 0
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401 Al HIZ 201 8] 10,050,000 2,953,000 7,097,000
01 A& HI 10,050,000 2,950,000 7,100,000
0 g§~=42t stz 400,000
0 2 &~AtEZt St X 150,000
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X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E2ael 2SN 68,300 68,300 0
201 £B-2d| 56,100 56,100 0
01 At 22l 36,100 36,100 0
ONSEE L HU2DE Y
333,300& = 123 4,000
0 X¥gEs 7Y 91,600& » 123 1,100
0 ZHIZX= 500,000& = 12& 6,000
0 E2228 g2 2,083,300& * 123 25,000
02 =224l 20,000 20,000 0
03832= % HAl 1,666,660& * 12 20,000
202 44l 7,200 7,200 0
01 = LH 4 HI 7,200 7,200 0
0 =AYl 150,000& *» 49 = 128 7,200
305 tHal=s 5,000 5,000 0
01 Hia=s 5,000 5,000 0
0 tH& 3 1,000,000 * 53| 5,000
S 2 FH| 26,000 26,000 0
206 M= Hl 26,000 26,000 0
01 MHZ 4l 26,000 26,000 0
0 E2FX MR (MHAIN, & S) 6,000
0 SZAES(BAE, EXE S) 10,000
0 E22UsSEx(8ote, gtz sE) 10,000
ey 1,016,082 1,066,531 A 50,449
< 508,036
s 508,046
101 @14l 1,016,082 1,066,531 A 50,449
< 508,036
s 508,046
03 BRE(RIHA)Z2NE S 1,016,082 1,066,531 A 50,449
02123 (8Hd) 2,908,857& « 17H » 128 593,407
< 296,703
s 296,704
0 et&¥=+g 130,000& » 2% = 12E 3,120
< 1,560
s 1,560
0 NHESHE 65,000& = 174 1238 13,260
< 6,630
s 6,630
0= 50,000& = 1798 = 12& 10,200
< 5,100
[ia 5,100
0 Al2H2I=5f
19,1673 = 40A12t = 17 = 128 156,403
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o
N
0
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o
r
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334,760 » 29

o
B
0x
14
o
e
0

50,000& = 13¢¥

925,144,000& = 3.

925,144,000& * 4.5/100

12/100

128

128

128

128

EUNY A UL Mo RUNY M A EUNE M

Mo

78,201
78,202
62,562
31,280
31,282
47,918
23,958
23,960
13,600

6,800

6,800
41,632
20,815
20,817
28,865
14,432
14,433

4,080

2,040

2,040

25,200
12,600
12,600

8,035

4,017
4,018

7,800

3,900
3,900
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ol
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0x

At

il

200,000

200,000

401 AIEHIZ 2 I

200,000

200,000

01 A& HI

0 ots0l3 AQESEEH ZHAY

200,000
200,000

200,000

ootM 7 Aol AS X FHIALS

Mo H

1,550,000
775,000
232,500
542,500

1,550,000

401 AIEHIZ 2 I

HoH W

1,550,000
775,000
232,500
542,500

1,550,000

01 Al&d
O MotHd7 NATMMHASE X 7 AL

Mo

1,550,000
1,550,000

775,000
232,500
542,500

1,550,000
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69,
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000
000
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01 A€ HI
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EUNL

115,

115,

46,
69,

000

000

000
000

115,

000

Mo A

,635,
,468,
216,
,951,

992
000
500
492

15,132,992

2,503,

000

Mo
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000
500
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2,503,

000
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Mo
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, 751,
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2,254,000

4,538,

000
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2,254,000
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o
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, 796,
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379,

000
000
000
000
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000

401 AIEHIZL 2 I

, 796,

000

1,327,000

469,
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Off &t 24

=
i

2

Mo A

1,253,000
164,000
379,000

01 A& HI
0

o
e
2
N
B
0z
o
3
02
0
ox

03 Al

x
I
o
&=

o
e
]
2
S|
P
0=
ok
|
ox
10
0x
>
x
Sl
foul
(=S

H A

EURLY

1,790,000

1,790,000

1,253,000
161,000
376,000

6,000
6,000

3,000
3,000

1,323,000

4,000

467,000

2,000

K

i
2
o
B
0z
il
-
o
0
0x

Mo

1,270,000
889,000
114,000
267,000

1,466,000

A 196,000

403 A XM STH=0lA

Moo

1,270,000
889,000
114,000
267,000

1,466,000

A 196,000

Mo A

1,270,000

1,270,000
889,000
114,000
267,000

1,466,000

A 196,000

Mo

2,296,000
1,607,000
207,000
482,000

1,362,000

934,000

Mo

2,296,000
1,607,000
207,000
482,000

1,362,000

934,000

A

2,296,000
2,296,000

1,607,000
207,000
482,000

1,362,000

934,000

02

HH A

222,000
135,000
26,000
61,000

1,862,000

A1,640,000

403 AXISHHS =0l A

A A

222,000
135,000
26,000
61,000

1,862,000

1,640,000

222,000

1,862,000

1,640,000




2N

X{ XH -
S =

Ehel oS (cho &)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol &F o4 ﬁ}lgﬁ HRE2
0 BdH JxMEHEEN 222,000
Fag 135,000
= 26,000
= 61,000
S OFX| A MBI HIYZALS (2H2F O H K 2) 217,000 866,000 A 649,000
g 165,000
& 16,000
iy 36,000
401 A& HIZL £ 0HY| 217,000 866,000 A 649,000
Fag 165,000
& 16,000
o 36,000
01 Al& H| 217,000 866,000 A 649,000
0 FHUXAMEHHINEZAIS (2 OHAHKXIF) 217,000
= 165,000
= 16,000
= 36,000
FOURNAMEHAHINEZAIS (BAHOIE) 516,000 440,000 76,000
= 388,000
= 38,500
= 89,500
401 AIEHIZL 201 Y| 516,000 440,000 76,000
g 388,000
o= 38,500
= 89,500
01 Al&H| 513,000 437,000 76,000
0 FUAXAMEHHIPEZAIS (U 2H X R) 513,000
Fag 388,000
= 37,000
= 88,000
03 AlE 20| 3,000 3,000 0
0 FUXAMEHHINEAIY AL S2OHYI 3,000
= 1,500
= 1,500
otls AIXIOIS CHEIIANY (HMEALY) 300,000 0 300,000
401 Al HI L 204 HI 300,000 0 300,000
01 Al&H| 300,000 0 300,000
0 ot AXIDIS SHSIIAY(HSALY) 300,000
UL 2ALES CHEIAMY(HEAY) 300,000 0 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
0 22 KAB0IS CHEIIAY (HEAIY) 300,000
Mo HWAIOIS CHSIIASE (MEALS) 300,000 0 300,000
401 AlEHIZL £ 0HY| 300,000 0 300,000




= _ — d =
BB - Sl (31) - NRAY - BES e 52
01 A& HI 300,000 0 300,000
0 32 A0S AUSIAS (HEAY) 300,000
otek OHAHIOIS SHSIIAIL (M BHALY) 600,000 0 600,000
401 A& HIZ 2018 600,000 0 600,000
01 A& HI 600,000 0 600,000
0 &2 DHAHIDIS SLSIIA (HEAY) 600,000
E8 HE = 300,000 0 300,000
401 AIEHI L 2] 300,000 0 300,000
01 A& HI 300,000 0 300,000
0 =& Hal =8 300,000
2= FRAZCAY 310,000 100,000 210,000
401 Al HI K 201 I 310,000 100,000 210,000
01 A& HI 310,000 100,000 210,000
0 XYL AE A2 A2 200,000
0 SdAI SSTUAS AId= &l 60,000
0 AsHECX A2 FH| 50,000
tE2ets)l 23 XA 16,992 16,992 0
201 LBr2EH| 9,792 9,792 0
01 At 2t 2l 3,600 3,600 0
0ARES & 78 300,000& = 3,600
02 2324gHl 6,192 6,192 0
0532= % HAl 99,300& = 1,192
0 "GMLAES &IIRS EF
416,600& = 5,000
202 O4dl 7,200 7,200 0
01 = LHA YI 7,200 7,200 0
0 =UWobl 150,000 * 49 « 7,200
=28 JIZMENE=SH 400,000 0 400,000
s 280,000
< 36,000
e 84,000
403 MtXISHH S0l & 400,000 0 400,000
s 280,000
< 36,000
s 84,000
02 S 2SO HEAEE 2 E AL 400,000 0 400,000
0 2% JI=ZdME8HEsY 400,000
s 280,000
< 36,000
s 84,000
d HW0E USIAMG(HEAY) 500,000 0 500,000




SN ALDSD
Za: #=s

SH
&Hel: =

= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 500,000 0 500,000
01 A& HI 500,000 0 500,000
00X Hwitg SIIMLEOI2HE 8 S
141) 500,000
HY I0tS AUSITHAS (HSAY) 500,000 0 500,000
401 AIEHIZL 2 0] 500,000 0 500,000
01 A& Hl 500,000 0 500,000
0 Y SH0IS ASIHAGOI2HE =8 S
141) 500,000
W A0S RHSIIAI (R EALY) 500,000 0 500,000
401 AIEHIZL 201 500,000 0 500,000
01 A& HI 500,000 0 500,000
03w APJIOHE HEIIAE(OIE2HE 28 S
146) 500,000
%Y GIH0IS SHSIIAIL (M ALY 500,000 0 500,000
401 Al HIZ 201 8] 500,000 0 500,000
01 A& HI 500,000 0 500,000
0 &2 St&0tS ASIHAGOI2HE =8 S
141) 500,000
st = 10,465,904 4,503, 864 5,962,040
= 122,500
s 475,000
< 360,820
e 9,507,584
nsHF 9,097,664 4,372,668 4,724,996
= 122,500
s 275,000
< 360,820
e 8,339,344
Sl DEEITA 19,054 18,139 915
< 5,360
s 13,694
101 @124 dl 19,054 18,139 915
= 5,360
s 13,694
04 JIZHHZ22XEE 19,054 18,139 915
0 BXd WsSg XZA 2] 19,054
o HY 73,2803 * 269 * 4 7,622
< 2,144
s 5,478
o FZ 73,280 * 1.5 *x 26% * 4 11,432
< 3,216
s 8,216
2SI EXZ XA 1,500,000 1,000,000 500,000
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el

- _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 1,500,000 1,000,000 500,000
09 2L AHEXZ2 1,500,000 1,000,000 500,000

0 St HUXSK RIIBEXS 1,500,000

A & 58,512 58,431 81
101 2121 H] 25,618 25,537 81
04 JI2ZtHIZ22NEE S 25,618 25,537 81

0 F=EXHS 25,618

o Jle2a 73,280 « 1H x 247 18,101

o FTHEAULE 73,280 x 18 » 52¢ 3,811

o EXRa2EL4LY 73,280 x 1Y€ x 11 807

o §Y Z22LY 73,280 « 18 x 30 2,199

o II=2H| 175,000 = 49 700
201 Bt 12,894 12,894 0
01 AP 22| H| 3,150 3,150 0

0 2| 3,150

o 55 2 AHY 1IN &3 2,100

o Gt AE|F 420

o ChE S 40F M= 630
02 E32%H| 9,744 9,744 0

0 Al & Hdl s Xldl CCTV 437,000 = 12&€ 5,244

0 UEHES DIAMNES RES 3,500

0 =AXNSEXE HH| 250,0008 * 42| 1,000
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al&Hl 20,000 20,000 0

0 =% CCTV WAl 5,000,000 = 404 20,000

HASZE X &£ HU| 120,000 85,000 35,000
401 AlEHIZ £ 0HY| 120,000 85,000 35,000
01 Al&H| 120,000 85,000 35,000

O HASZE &X 10,000,000& = 8JH A~ 80,000
0 HASZE KX 2eldl
1,000,000& * 4000 2~ 40,000

IJEHE 2 3,504 3,504 0
201 et d| 3,504 3,504 0
01 AP 2t 2] H| 3,504 3,504 0

0 MEHES DX A HIZ 3,504

CHAHA 2SI 180,000 80,000 100,000
307 S12t0| & 180,000 80,000 100,000
09 2L AHEBEXZ 180,000 80,000 100,000




2N
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L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o dE = HRE2
0Ofl &F 08
0 ot=SHOIE ~ 8 nR2t 28 &
25,000,000 * 43| 100,000
0AME ~ SIHHOIER2 28 X
20,000,000 * 43| 80,000
HA 228 28 26,400 12,000 14,400
201 £Bt24d| 26,400 12,000 14,400
01 A2t 2| bl 26,400 12,000 14,400
0 HAQEO= 210 100,000 = 200H = 12&€ 24,000
OHA E22(&T) ME 120,000& * 20CH 2,400
nEdHy AN 304,929 201,585 103,344
101 21 214| 98,928 62,784 36, 144
04 JI2tHI22XNEE S 98,928 62,784 36, 144
0 AZHA - X DEAUYY A2
73,280 * 30¥ * 30 65,952
0 AZHA EXH REGUR AR (FY)
73,280 * 1.5 = 30¥ + 10¥ 32,976
201 et 175,401 118,201 57,200
01 AP 2t 2] H| 11,901 11,901 0
0 AISASESHHE AMA OE 2 dM4AEE 9,101
0 2&H]| 8,000& = 3504l 2,800
02 B232%H| 150,000 100,000 50,000
02222 ¢ HA 12,500,000& = 12&€ 150,000
03 A2 G HI 13,500 6,300 7,200
0O U=E=MSHAI DEUHE 2HH| 10,000
0 SHAIOHLl WS HEXE HE 500,000& * 74! 3,500
202 044l 9,000 9,000 0]
01 2L I 9,000 9,000 0
0 2o 150,000& * 5Y = 128 9,000
301 et A =2 21,600 11,600 10,000
09 SHAIAHI X &2 20,000 10,000 10,000
0 =N L A WESALA AlH 24 20,000
12 J|EtE2 A= 1,600 1,600 0]
0 NS SEHSEA ADEAS
100,000 = 1604 1,600
AN sHEWHA HH XHH X & 1,720,000 0 1,720,000
402 SI2F X0l & 1,720,000 0 1,720,000
01 It E AL E X (M) 1,720,000 0 1,720,000
0 ALl sHEHA HH XH K& 1,720,000
H=zwnsEssdst 260,606 248,866 11,740
101 e1214| 255,746 243,866 11,880
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sum (el @2)
_ RE]
- o9l (B H) - MISAS - gﬁ‘&i HR=2
04 JI2ZtHI22 XS 255,746 243,866 11,880
0 HACHY =20 255,746
o Jle2a2 73,280 « 9H =« 312 205,771
o F5ULG 73,280 « 9™ x 522! 34,296
o EXRass 73,2803 x 9¥ x 11< 7,255
o 2tAlY| 3,000& * 9 x 312 8,424
201 gEt2Ay| 4,860 5,000 A 140
01 AP 22| d| 4,860 5,000 A 140
02f= 2¢ 180,000 * 9¥ = 33| 4,860
SEANEE 22 600,000 303,000 297,000
401 Al HI L £ 0HHI 600,000 303,000 297,000
01 Al& H| 600,000 303,000 297,000
0 BSAalsI X &£ & 100,000
0 WSotd EXE L NEL-HEX AX 250,000
0 JIEtAIE 2 & RAE+ 22lbl 250,000
DEEH 2x2 4,300 4,300 0
307 212t0| ™ 4,300 4,300 0
02 QIZHB AAIE 2 X 4,300 4,300 0
Oolsz RE2A8XS NSO L HHQ S 4,300
AMAHAEHDE 22 20,300 16,050 4,250
307 2Iz2to| & 20,300 16,050 4,250
02 QI AAIE E X 20,300 16,050 4,250
0 HAEDOIY Witetd] & S22 AH| 20,300
SHEEHAl 249 250,000 220,000 30,000
g 125,000
& 62,500
= 62,500
301 et A =2 246,400 216,400 30,000
oy 123,200
& 61,600
= 61,600
12 JIEtE2 A2 246,400 216,400 30,000
0 H=EEHA 2H 246,400
= 123,200
== 61,600
= 61,600
308 XX SHHSOIH 3,600 3,600 0
hag 1,800
o= 900
= 900
11 BIZ2SUHUSHEAEAE A Y| 3,600 3,600 0




SN ALDED
M NSt EE
& NSHAH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 +n=c8 LS (0AT) A2E +48
300,000& = 12& 3,600
s 1,800
< 900
i 900
FHEZH ==2 X3 37,720 37,720 0
< 18,860
s 18,860
307 gl2tol & 37,720 37,720 0
< 18,860
s 18,860
09 2HAHEXS 37,720 37,720 0
0 HARS IEZH =2 XA
3,780,000& * 4&7I 15,120
< 7,560
s 7,560
0 sHEWNSIHE & XA
700,000& = 4= 7| 2,800
= 1,400
s 1,400
0 sHEWNSIHE 3 X
4,950,000& = 4= 7| 19,800
< 9,900
s 9,900
SHEHA HEXZZ 1,320,000 820,000 500,000
< 20,000
s 1,300,000
307 gl2tol & 1,320,000 820,000 500,000
< 20,000
s 1,300,000
09 2HAHAEXES 1,320,000 820,000 500,000
0 sHEHA 2d 4243 1,320,000
< 20,000
[ia 1,300,000
Egussd A& 102,000 86,000 16,000
= 50,000
< 1,400
e 50,600
307 glz2+0ol & 2,000 2,000 0
< 1,400
e 600
02 YAFHAANGEEE 2,000 2,000 0
0O NSATZHA 018 Sd= X 2,000
< 1,400
s 600
405 XtatE SHI 100,000 84,000 16,000
= 50,000
[ia 50,000




5 - 4
SA BB (SH) - NRAY - B %Eﬁ 2t
01 AL Z2B2EFS 100,000 84,000 16,000
0 NEAXN=H ¢ 50,000,000& * 2CH 100,000
= 50,000
= 50,000
EHAl X &AL 1,418 1,612 AN 194
308 MXISHMSOIA 1,418 1,612 AN 194
11 2| 2S0HUsHEAXAEASH] 1,418 1,612 AN 194
0 BHAlSHEE2ALZANAE 24 1,418
SEAIHIEZ 22X 4,500 4,500 0
201 et 9| 4,500 4,500 0
01 AF 22| H| 4,500 4,500 0
0 EEAHAZ Tz)d RAE4LH|
375,0008 = 12& 4,500
EENESLC 2Y 330,435 412,002 N 81,567
307 QI2t0| ™ 330,435 412,002 AN81,567
05 QIZtREZ 330,435 412,002 N 81,567
0 DEARNSUA 212 2|
47,205,000& = 7CH 330,435
EHAI M X R 225,000 282,000 A 57,000
= 19,500
= 205,500
301 dEtE M= 225,000 282,000 A 57,000
= 19,500
o 205,500
12 JIEtE2 A= 225,000 282,000 A 57,000
0 EHAIZ X BEAXR 225,000
= 19,500
= 205,500
HIENH =ABAMZS 2 361,000 310,000 51,000
= 53,000
o=t 8,000
= 300,000
307 2Iz2t0| & 361,000 310,000 51,000
= 53,000
= 8,000
= 300,000
09 2L AHEXZ2 361,000 310,000 51,000
0 88X &=ABAS 361,000
= 53,000
& 8,000
o 300,000
A2 B8 249,220 150,400 98,820
201 LBt | 249,220 150,400 98,820




FAM: A4S
B DESSYE
& NSHAH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 At 22l 249,220 150,400 98,820
0 BAl Q& E24I(1030H) 231,660
0 BAl EES(HYE) AX 120,000& = 103CH 12,360
0 BHAl AIEJHEAIE XA 200,000& « 15CH 3,000
0 EctE2 (=) 2ZEA E22 NN
550,000& = 43| 2,200
NP2 2HBG Bty 10,000 10,000 0
< 5,000
e 5,000
301 LEEAS 10,000 10,000 0
< 5,000
e 5,000
12 JIEtE4 3 10,000 10,000 0
0 DB2HEX 2H8HGY Bty
100,000& * 100% 10,000
< 5,000
[ia 5,000
SHEHA SIS ©ZI| AIAE HEALS 50,000 0 50,000
402 RI2EA=20l A 50,000 0 50,000
01 It 2 A B (KM ) 50,000 0 50,000
0 WSS &I AIAE HEALS 50,000
StSMIHAXIAN AL WSKH 200,000 0 200,000
401 Al BIZ 201 8] 200,000 0 200,000
01 A& HI 200,000 0 200,000
0 AAZ HAME NEAMEES ZHI 100,000
0 sHEHA HIISEL X 100,000
HAE IAE(BIS) RAES 39,766 0 39,766
308 XXM S0 A 39,766 0 39,766
11 SISO CHE B & X2 E AL HI 39,766 0 39,766
0 HAZBAAE(BIS) RANES 39,766
Helol Sst2 AMAEINS ALY 799,000 0 799,000
< 239,700
[ia 559,300
401 Al B2 28I 799,000 0 799,000
< 239,700
e 559,300
01 A& HI 799,000 0 799,000
0 Helol Stz AZHEAS 799,000
= 239,700
s 559,300
SEE nERd(HAE) XA 300,000 0 300,000
s 150,000
[ia 150,000
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